=0
D2
|
=1 8
: L
W
D35
D1
E5 29

© HEINRICH KIPP WERK GmbH & Co.

SW1

KG

EM OlF2]:
AR T

LAt &2l8, 4- AEtrdEl

&3 g, Hsh, o + aeln A s,
AE[olz|A AT b

LiA Bl 2ae '+a|

A2 El odnp, FRE X2,

a2 B, A3 3|4 RAL7021 £ £ EB|E! w7 RAL3020.
AL
E MA HE.

HMIME:
AT 0| M B K0665.
ofe BES 98t 1™ ME K2146.

=0f Moy,
(=
EHel A B2 &% 818, B3 UE el
EfelB: &2 &% 98, B3 UE s
Efel C: 23 &% 98, B2 LE us
EfelD: M3 % o8, B2 UE 28
24
|
A SWi
~| oy
-l
e

-6,02
D3

www.kipp.com - info@kipp.com

1/3



© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

°
= = | - —_
S2tAE HAYE Jgl0] U= W2 e AE =2 AH|
CllA =2
— 2
E=S oY%
FEH= =A A EH TEE MY D1 D2 L L1L2AEZ23 SW1SW2Fx30° AR Ehg
712 A EbAd ==
F1 2 NF2 2. N
K0631.5903 A AE 23t ZA3[ARAL7021 3 M6x0,75 142556 5 , 0,8 4 10
K0631.5004 A AE P ZA5AHRAL7021 4 M8x1 182956 6 4 1 4 12
K0631.5105 A AEl A3t AS|MRAL7021 5 M10x1 213458 7 5 1,3 5 12
K0631.5206 A AE Ast ZA3|M RAL7021 6 M12x1,52541,710 8 6 1,8 6 14
K0631.5308 A AEl P ZH5|M RAL7021 8 M16x1,533 54 1210 8 2,3 14 28
K0631.5410 A AE A5t Z3|M RAL 7021 10 M20x1,5 33 61 1512 10 2,8 15 32
K0631.590384 A AEl Zs  AEES w7 RAL3020 3 M6x0,75 142556 5 3,5 0,8 4 10
K0631.500484 A AE Z#5 AMESESWZRAL3020 4 M8x1 182956 6 4 1 4 12
K0631.510584 A AE As  AMEZSWZ RAL3020 5 M10x1 213458 7 5 1,3 5 12
K0631.520684 A AE Zst ASES wZ RAL 3020 6 M12x1,5 2541,710 8 6 1,8 6 14
K0631.530884 A AEl Z#s AESES Wz RAL 3020 8 M16x1,533 54 1210 8 2,3 14 28
K0631.541084 A AE Zs A3 S wZ RAL 3020 10 M20x1,5 33 61 1512 10 2,8 15 32
K0631.15903 A AE|QIHA AEl H|ZAS H5|M RAL7021 3 M6x0,75 142556 5 3,5 0,8 4 10
K0631.15004 A AECIHA AE!l H|ZAS ZS|M RAL7021 4 M8x1 182956 6 4 1 4 12
K0631.15105 A AEHEQIHA AEl H|ZAS AS|MRAL7021 5 M10x1 213458 7 5 1,3 5 12
K0631.15206 A AEHIQIFA AEl H|ZE5 ZA3|A RAL7021 6 M12x1,52541,710 8 6 1,8 6 14
K0631.15308 A AEHQIEA AEl H|ZFS éil&' RAL 7021 8 M16x1,533 54 1210 8 2,3 14 28
K0631.15410 A AECIHA AEl H|ZAS Z3|M RAL 7021 10 M20x1,5 33 61 1512 10 2,8 15 32
K0631.1590384 A AEIQIPA ARl H|ZEE ASS @7 RAL3020 3 M6x0,75 142556 5 35 0,8 4 10
K0631.1500484 A AH[QlD|A AR H|ZFSt £5S WZ RAL3020 4 M8x1 182956 6 4 1 4 12
K0631.1510584 A AECIBA AEl H|ZASt AESS #®ZRAL3020 5 M10x1 213458 7 5 1,3 5 12
K0631.1520684 A AEQIEA AEl H|ZS AES %Z RAL3020 6 M12x1,52541,710 8 6 1,8 6 14
K0631.1530884 A AEIQIEIA AEl H|ZS AlFS 9WZ RAL3020 8 M16x1,533 54 1210 8 2,3 14 28
K0631.1541084 A AEQIBA AEl H|ZS AlSS #ZF RAL 3020 10 M20x1,5 33 61 1512 10 2,8 15 32
K0631.6903 B AE PEE ZH5|M RAL7021 3 M6x0,75 142556 5 3,5 0,8 4 10
K0631.6004 B AEl PEE HAS|MMRAL7021 4 M8x1 182956 6 4 1 4 12
K0631.6105 B A A3t AS|MRAL7021 5 M10x1 213458 7 5 1,3 5 12
K0631.6206 B AE] PEE ZH5|M RAL7021 6 M12x1,52541,710 8 6 1,8 6 14
K0631.6308 B AE a5t Z3|M RAL7021 8 M16x1,533 54 1210 8 2,3 14 28
K0631.6410 B AE A5t ZA3|M RAL 7021 10 M20x1,5 33 61 1512 10 2,8 15 32
K0631.690384 B AEl Z#s  AMESWZ RAL3020 3 M6x0,75 142556 5 3,5 0,8 4 10
K0631.600484 B AEl As  AMESWZ RAL3020 4 M8x1 182956 6 4 1 4 12
K0631.610584 B A As  AMEZSWZRAL3020 5 M10x1 213458 7 5 1,3 5 12
K0631.620684 B AEl Z#s  AME5 WZ RAL3020 6 M12x1,52541,710 8 6 1,8 6 14
K0631.630884 B AEl Ads M35 wZ RAL3020 8 M16x1,533 54 1210 8 2,3 14 28
K0631.641084 B A Zs  AEES wZ RAL 3020 10 M20x1,5 33 61 1512 2,8 15 32
K0631.16903 B AFH|CIHA AEl H|ZSF Z43|A4 RAL 7021 3 M6x0,75 142556 5 , 0,8 4 10
K0631.16004 B AHEQIHA ARl H|FES Z3|M RAL7021 4 M8x1 182956 6 4 1 4 12
K0631.16105 B AECIFA AEl H|ZS ZHA3MRAL7021 5 M10x1 213458 7 5 1,3 5 12
K0631.16206 B AHIQIE|A ARl H|HES Z35|A RAL 7021 6 M12x1,52541,710 8 6 1,8 6 14
K0631.16308 B AEQIHA AEl H|ZS Z3|M RAL 7021 8 M16x1,5 33 54 1210 8 2,3 14 28
K0631.16410 B AHIQIFA AEl H|ZES Z43|A RAL 7021 10 M20x1,5 33 61 1512 10 2,8 15 32
K0631.1690384 B AE(QIEA AEl H|ZS AlSES w7 RAL3020 3 M6x0,75 142556 5 3,5 0,8 4 10
K0631.1600484 B AHICIBA ARl H|ZES ASSWZERAL3020 4 M8x1 182956 6 4 1 4 12
K0631.1610584 B AHIQIHA ARl H|ZES ASES WZRAL3020 5 M10x1 213458 7 5 1,3 5 12
K0631.1620684 B AEIQIBIA ARl H|ZEE AlZS wWZ RAL3020 6 M12x1,5 2541,710 8 6 1,8 6 14
K0631.1630884 B AH[QIEA AR H|ZFst ASS ®WZ RAL3020 8 M16x1,5 33 54 1210 2,3 14 28
K0631.1641084 B AEIQIB|A AEl H|ZAS AlSS #ZF RAL 3020 10 M20x1,5 33 61 1512 2,8 15 32
K0631.7903 C AEl PEL ZA3|M RAL 7021 3 M6x0,75 142556 5 0,8 4 10
K0631.7004 C AE A3t A3 RAL7021 4 M8x1 182956 6 1 4 12
K0631.7105 C AE Ast ZHASARAL7021 5 M10x1 213458 7 5 1,3 5 12
K0631.7206 C AE a3t A3 RAL 7021 6 M12x1,52541,710 8 6 1,8 6 14
K0631.7308 C AE A3t Z3|M RAL 7021 8 M16x1,5 33 54 1210 8 2,3 14 28
K0631.7410 C AE Ast 5| M RAL 7021 10 M20x1,5 33 61 1512 10 2,8 15 32
K0631.790384 C AEl Z#5  AMES wWZ RAL3020 3 M6x0,75 142556 5 3,5 0,8 4 10
K0631.700484 C AE As  AMEZSWZRAL3020 4 M8x1 182956 6 4 1 4 12
K0631.710584 C AE Z3 AMESWZ RAL3020 5 M10x1 213458 7 5 1,3 5 12
K0631.720684 C AEl 73  AES wZRAL 3020 6 M12x1,52541,710 8 6 1,8 6 14
K0631.730884 C AE As  A3S w7 RAL 3020 8 M16x1,533 54 1210 8 2,3 14 28
K0631.741084 C AE Z#s  AE5S Wz RAL 3020 10 M20x1,5 33 61 1512 0 2,8 15 32
K0631.17903 C AEHIQIHA AL H|ZE Z3|M RAL7021 3 M6x0,75 142556 5 5 0,8 4 10

info@kipp.com  2/3



°
== = [ - _—
SCAE A O8l0] = B2 B M| AE =2 AH|olgA 2l
=]
A SEA
EZ5 29
=2 Hs B =A MY EH THE M D D1 D2 L L1L2AEE3 SW1SW2Fx30° AR  EbM
718 8% S B B2
F1 2 NF2 2. N
K0631.17004 C AE[CIFA AEl H|ZAS ZHA3[ARAL7021 4 M8x1 182956 6 4 10 - 1 4 12
K0631.17105 C AHIQIBA AEl H|ZS AS|M RAL7021 5 M10x1 213458 7 5 13 - 1,3 5 12
K0631.17206 C AHIQIHA ALl H|ZEF A3 RAL7021 6 M12x1,52541,710 8 6 14 - 1,8 6 14
K0631.17308 C AECIFA AEl H|ZS ZA3|A RAL7021 8 M16x1,533 54 1210 8 19 - 23 14 28
K0631.17410 C AHIQIBEA Al H|ZS A3|M RAL 7021 10 M20x1,5 33 61 1512 10 22 - 2,8 15 32
K0631.1790384 C AEQIBA AEl H|Z3 AlSS #Z RAL 3020 3 M6x0,75 142556 5 3,5 8 - 08 4 10
K0631.1700484 C AEQIBA AEl H|ZS} (S5 ¥ZHRAL3020 4 M8x1 182956 6 4 10 - 1 4 12
K0631.1710584 C AH|QEIA AR H|ZBS A3 S WZRAL3020 5 M10x1 213458 7 5 13 - 1,3 5 12
K0631.1720684 C AECIBA AEl H|ZASt ASS #Z RAL3020 6 M12x1,52541,710 8 6 14 - 1,8 6 14
K0631.1730884 C AEQIBA AEl H|ZS AES %Z RAL3020 8 M16x1,533 54 1210 8 19 - 23 14 28
K0631.1741084 C AEHIQIPA ALl H|ZEE A3 S 7 RAL 3020 10 M20x1,5 33 61 1512 10 22 - 2,8 15 32
K0631.8903 D AE A3t Z3|M RAL 7021 3 M6x0,75 142556 5 3,5 8 10 08 4 10
K0631.8004 D AE s ZHASMRAL7021 4 M8x1 182956 6 4 10 13 1 4 12
K0631.8105 D AEl PEE AS|MRAL7021 5 M10x1 213458 7 5 13 17 13 5 12
K0631.8206 D AE A3t AS|M RAL7021 6 M12x1,52541,710 8 6 14 19 18 6 14
K0631.8308 D A& Ast 45| M RAL 7021 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.8410 D AEl PEET 3|4 RAL 7021 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.890384 D AE As  A3S wZ RAL 3020 3 M6x0,75 142556 5 3,5 8 10 08 4 10
K0631.800484 D AE 75 QAESSWZRAL3020 4 M8x1 182956 6 4 10 13 1 4 12
K0631.810584 D AEl 73 (MESSWZRAL3020 5 M10x1 213458 7 5 13 17 13 5 12
K0631.820684 D A As  AEES wZ RAL 3020 6 M12x1,5 2541,710 8 6 14 19 18 6 14
K0631.830884 D ESS Z#3  AES wZ RAL 3020 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.841084 D AEl A3 A5 S wZ RAL 3020 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.18903 D AH|QIFA AEl H|ZEF ZA3|M RAL 7021 3 M6x0,75 142556 5 3,5 8 10 08 4 10
K0631.18004 D AEQIBA AEl H|ZAS ZHA5ARAL7021 4 M8x1 182956 6 4 10 13 1 4 12
K0631.18105 D AHQIHA ALl H|ZF Z3|M RAL7021 5 M10x1 213458 7 5 13 17 13 5 12
K0631.18206 D AHIQIFA AEl H|ZEF AS|M RAL7021 6 M12x1,52541,710 8 6 14 19 18 6 14
K0631.18308 D AH|QIE|A ARl H|HES A3|M RAL7021 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.18410 D AH|QIHA AL H|ZEE Z3|M RAL7021 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.1890384 D AEQIEA AEl H|ZFE AlSS 7 RAL 3020 3 M6x0,75 142556 5 3,5 8 10 08 4 10
K0631.1800484 D AH|QID|A ARl dH|FSt £S5 WZ RAL3020 4 M8x1 182956 6 4 10 13 1 4 12
K0631.1810584 D AH[QlD|A AR H|ZEst £A5S WZ RAL3020 5 M10x1 213458 7 5 13 17 13 5 12
K0631.1820684 D AECIBA AEl H|ZAS} AlSS #Z RAL3020 6 M12x1,52541,710 8 6 14 19 18 6 14
K0631.1830884 D AE|QIE|A AR H|ZBS A3 S #WZ RAL3020 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.1841084 D AE|QIEIA ARl H|ZS AlE3S @z RAL 3020 10 M20x1,5 33 61 1512 10 22 30 28 15 32
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



